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#® = £ B x i ES B #® = 24
5 ES | & B | = I at B ES | G
23 |- 314,395 343,546 657,941 193,447 222,639 416,086 61.91 60.68 61.26
# H 23,49 26,762 50,253 17,06 19,356 36,419 57.93 58.03 57.98
o e oW 41,886 44,732 86,618 33,021 35,903 68,924 55.92 55.47 55.69
7 & W 19,724 22,073 41,797 212 16,591 29,803 59.89 57.09 58.38
7 Bk W 20,061 22,625 42,686 13,087 16,344 29,431 60.52 58.06 59.19
£ £ W 14,580 14,848 29,428 11,852 13,230 25,082 55.16 52.88 53.99
E B h 12,904 14,411 27,315 6,918 8,933 15,851 65.10 61.73 63.28
8% B Th 25,143 26,143 51,286 15,768 15,465 31,233 61.46 62.83 62.15
% & W 6,752 7,430 14,182 3,560 4,151 7, 711 65.48 64.16 64.78
B ® W 6,080 7,458 13,538 4,205 4,342 8,547 59.12 63.20 61.30
B W 6,813 7,200 14,013 3,728 4,495 8,223 64 .63 61.56 63.02
B ¥ 5,440 5,911 11,351 3,486 4,437 7,923 60.95 57.12 58.89
BB W 5,011 5,951 10,962 3,469 4,061 7,530 59 .09 59.44 56.28
A B h 6,923 6,908 13,831 5,186 5,240 10,426 57.17 56.87 57.02
gg z 18 194,808 212,452 407,260 134,555 152,548 287,103 59.15 58.21 58.65
Al
% E H 2,184 2,127 4,311 1,358 1,688 3,046 61.66 55.75 58.60
E B @ 1,922 1,951 3,873 1,298 1,458 2,756 59.69 57.23 58.43
Koo g A 825 795 1,620 277 384 661 74.86 67 .43 71.02
a 4E+ - 4,931 4,873 9,804 2,933 3,530 6,463 62.70 57.99 60.27
& & ] 2,936 2,929 5,865 1,086 1,356 2,442 73.00 68.35 70.60
B ¥ HI 1,577 1.512 3,089 820 939 1,759 65.79 61.69 63.72
XK L W 2,467 2,520 4,987 1,356 1,568 2,924 64.53 61.64 63.04
B H A 2,003 1,939 3,942 1,128 1,425 2,553 63.97 57.64 60.69
B R OH] 2,099 2,136 4,235 662 949 1,611 76.02 69.24 72.44
ng - 11,082 11,036 22,118 5,052 6,237 11,289 68.69 63.89 66.21
#E B AT 5,360 5,748 11,108 2,813 3,390 6,203 65.58 62.90 64.17
L] HT 2,354 2,974 5,328 1,110 1,120 2,230 67 .96 72.64 70.49
8 B W 1,643 1,555 3,198 732 734 1,466 69.18 67.93 68.57
[T 1) 2,404 2,574 4,978 1,172 1,150 2,322 67.23 69.12 68.19
" Eéf 11,761 12,851 24,612 5,827 6,394 12,221 66.87 66.78 66.82
4
A
Bg HI 1,629 1,870 3,499 836 933 1,769 66.09 66.71 66.42
B - 1,629 1,870 3,499 836 933 1,769 66.09 66.71 66.42
T =
W 3% HJ 3,117 3,507 6,624 1,578 1,576 3,154 66 .39 68 .99 67.74
= B H 1,993 2,134 4,127 980 1,204 2,184 67.04 63.93 65.39
x B 1,155 1,145 2,300 444 616 1,060 72.23 65.02 68.45
2= B A 1,847 1,932 3,779 772 941 1,713 70.52 67.25 68.81
[ 1,195 1,191 2,38 547 699 1,246 68.60 63.02 65.69
it - 9,307 9,909 19,216 4,321 5,036 9,357 68.29 66.30 67 .25
— = =4
EF B o AT 1,413 1,483 2,896 473 592 1,065 74.92 71.47 73.11
— & H 2,532 2,855 5,387 1,033 1,262 2,295 71.02 69.35 70.12
5 W A 3,187 3,547 6,734 1,353 1,474 2,827 70.20 70.64 70.43
= BF HJ 3,113 3,208 6,321 1,293 1,706 2,999 70.65 65.28 67 .82
£ 2 & 3,025 3,135 6,160 1,389 1,767 3,156 68.53 63.95 66.12
= = # 2,183 2,325 4,508 668 837 1,505 76.57 73.53 74.97
- Hi a 15,453 16, 553 32,0006 6,209 7,638 13,847 71.34 68.43 69.80
£
N &5 W] 1,877 2,144 4,021 739 785 1,523 71.75 73.22 72.53
R = HI 2,262 2,535 4,797 697 679 1,376 76.44 78.87 77 .71
it 4,139 4,679 8,818 1,436 1,463 2,899 74.24 76.18 75.26
2 =
% ‘& HT 2,449 2,510 4,959 1,074 1,459 2,533 69 .51 63.24 66.19
A 0 H] 3,776 3,945 7,721 2,004 2,576 4,580 65.33 60.50 62.77
*x & H 2,090 2,389 4,479 574 567 1,141 78 .45 80.82 79.70
I i 1,471 1,670 3,141 403 485 888 78.50 77 .49 77 .96
[T 1,465 1,549 3,014 - 486 670 1,156 75.09 66.81 72.28
- Ha 11,251 12,063 23,314 4,541 5,757 10,298 71.24 67.69 69.36
=
By H 2,208 2,247 4,455 1,174 1,657 2,831 65.29 57.56 61.14
- B g 1,668 1,905 3,573 978 1,143 2,121 63.04 62.50 62.75
A ROHT 2,533 2,735 5,268 1,376 1,569 2,945 64.80 63.55 64.14
* = Hy 1,656 1,847 3,503 464 546 1,010 78 .11 77.18 77 .62
B B HI 2,513 3,122 5,635 2,283 2,220 4,503 52.40 58.44 55.58
w OB H 2,296 2,943 5,239 1,782 1,798 3,580 56.30 62.08 59.41
A B HT 1,391 1,612 3,003 746 796 1,542 65.09 66.94 66.07
& HI 1,726 1,440 3,166 1,051 1,606 2,657 62.15 47 .28 54.37
woopE A 1,027 1,153 2,180 798 1,023 1,821 56.27 52.99 54.49
X A A 523 618 1,141 184 230 414 73.97 72.88 73.38
. }gf - 17,541 19,622 37,163 10,836 12,588 23,424 61.81 60.92 61.34
=
w OB H 1,420 1,829 3,249 932 7890 1,712 60.37 70.10 65.49
X T H 1,583 2,102 3,685 1,683 2,021 3,704 48.47 50.98 49.87
= A H 2,746 3,567 6,313 2,560 3,063 5,623 51.75 53.80 52.89
T %% HT 2,853 3,036 5,889 2,813 3,596 6,409 50.35 45.78 47 .89
O HT 2,311 2,596 4,907 836 1,062 1,898 73.44 70.97 72.11
=t 10,913 13,130 24,043 8,824 10,522 19,346 55.29 55.51 55 .41
(0T T :
F '\ HT 2,784 3,175 5,959 745 857 1,602 78.89 78.75 78.81
Ty BT 2,129 2,285 4,414 638 924 1,562 76.94 71.21 73.86
B o A 903 1,026 1,929 154 202 356 85.43 83.55 84.42
X W H o+ 1,726 1,933 3,659 367 575 942 82.47 77.07 79°.53
. &t - 7.542 8,419 15,961 1,904 2,558 4,462 79.84 76.70 78.15
B’
# W HT 2,202 2,502 4,704 441 533 974 83.31 82.44 82.85
it 2,202 2,502 4,704 441 533 Q74 83.31 82 .44 82.85
it %&£ == L
fOFEBE 2,986 3,373 6,359 1,614 1,904 3,518 64.91 63.92 64 .38
# o HY 2,934 3,492 6,426 1,385 1,503 2,888 67.93 69.91 68.99
st 5,920 6,865 12,785 2,999 3,407 6,406 66.38 56.83 66.62
iﬁﬁ5£ é? E? 2,399 2,708 5,107 1,237 1,694 2,931
b . , . . . . 65.98 61.52 63 .54
W = OH 1,808 2,020 3,828 793 991 1,784 69.51 67 .09 68.21
#2 0 HT 1,068 1,250 2,318 382 448 830 73 .66 73.62 73 .63
wmOE N 641 744 1,385 321 362 683 66.63 67 .27 66 .97
& 5,916 6,722 12,638 2,733 3,495 6,228 68.40 65.79 66.99
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